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Question: 1 
   
 

 
 

Answer: A     
 
Explanation: 

 

Question: 2 
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Answer: B     
 
Explanation: 
84 balloons can be equally separated into 6 groups (6 tables). 84 is divisible by 6. A quick check for 
divisibility by 6 is to see if the number is divisible by both 2 and 3. If the number is divisible by 2 and 3, 
then it is also divisible by 6.84 + 2 = 42 and 84 + 3 = 28 (84 + 6 = 18 balloons at each table). 

Question: 3 
   
 

 
 

Answer: B     
 
Explanation: 
Temperature drop is represented by a negative number, and temperature increase is represented by a 
positive number. The expression that would represent this situation is 68 + (—13) + 6. First, add 68 and 
—13 by finding the difference between the absolute values of the two numbers and taking the sign of 
the larger number. 68 — 13 = 55 and 68 is positive, so the answer stays positive as well. Then, add 55 + 
6, which is equal to 61. 

Question: 4 
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Answer: A     
 
Explanation: 
To find the value of the expression, we start by adding and subtracting from left to right -589 - 800 = —
1,389. Then we evaluate the expression —1,389 — (—246), which can be rewritten as —1,389 + 246. 
This is equal to —1,143. 

Question: 5 
   
 

 
 

Answer: D     
 
Explanation: 

 

Question: 6 
   
 

 
 

Answer: D     
 
Explanation: 
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Question: 7 
   
 

 
 

Answer: B     
 
Explanation: 
The table does not represent a function. Functions are a subgroup of relations. Not all relations are 
functions. In this case, the table does not represent a function because there is not exactly one y-value 
(output) for each x-value (input). There are two x—values of 33 with different y—values. This means 
that the relation is not a function. 

Question: 8 
   
 

Visit us at https://www.examsempire.com/pre-algebra/

https://www.examsempire.com/pre-algebra/


 

 
 

Answer: B     
 
Explanation: 
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